QUADRATICS TEST REVIEW
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2. Complete the table.
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3. A ballis hit into the air. Its height, # in metres after ¢ seconds is /= —5(t —4)> +120.
a) In which direction does the parabola open?
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b) What are the coordinates of the vertex?

(4,120)

¢) What does the vertex represent?
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d) From what height was the ball hit? N .
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e) Find one other point on the parabolic curve and interptret its meaning.
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4. The equation P =- 0.2(n — 600)(n — 90) describes a company’s profit P, based on how many
units are sold, n. -

a) What are the break even points of the company?
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d) Describe a scenario where your solution could make sense in terms of the question
asked.
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5. A soccer ball is kicked from ground level. When it has traveled 35 m horizontally, it |
reaches its maximum height of 25 m. The soccer ball lands on the ground 70 m from where

DN it was Kkicked.
\i a) Model this situation with a relations in the form y=a(x—h)’ +k
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6. Find the area and perimeter of the rectangle shown.
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b 96 | 7. A projectile is fired straight up from the ground. It reaches a maximum height of 101.25 m

after 4.5 s. Then, it falis to the ground 4.5 s later.
a) Write a relation that models this situation.
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b) What is the height of the projectile after 3 seconds?
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c) Is there another time that the projectile is the same height above the ground?
Explain.
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d) Prove your answer above. [Do the Math to show at what time the proj k:ctile would
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